

Revision Date: November 18, 2022

(Effective immediately)

Juris Doctor Program

	INTRODUCTORY CLASSES						
LAW	Legal Research &	2		\$814 x 2 units =		\$240	
I402	Writing			\$1628		Ψ=10	
LAW I401	Introduction to Law	1		\$814 x 1 unit = \$814		\$117	
1401	Total Units:	3	Cost:	\$2,442	Books Estimate:	\$357	
	FIRST YEAR'	F				<u>.</u>	
LAW 503	Law Study & Exams	1		\$814 x 1 unit = \$814		\$153	
LAW 501A/B	Criminal Law	6		\$814 x 6 units = \$4884		\$405	
LAW 500A/B	Contracts	6		\$814 x 6 units = \$4884		\$342	
LAW 502A/B	Torts	6		\$814 x 6 units = \$4884		\$259	
	Total Units:	19	Cost:	\$15,466	Books Estimate:	\$1,159	
	SECOND YEAR	AR*					
LAW 603A/B	Constitutional Law	6		\$814 x 6 units = \$4884		\$260	
LAW 601A/B	Evidence	6		\$814 x 6 units = \$4884		\$380	
LAW 600A/B	Civil Procedure	6		\$814 x 6 units = \$4884		\$352	
	Total Units:	18	Cost:	\$14,652	Books Estimate:	\$992	
	THIRD YEAR*						
LAW 702A/B	Real Property	6		\$814 x 6 units = \$4884		\$270	
LAW 701A	Wills and Trusts	3		\$814 x 3 units = \$2442		\$260	
	Total Units:	9	Cost:	\$7,326	Books Estimate:	\$530	

	FOURTH YEA	AR*					
LAW	Business	6		\$814 x 6 units =			\$285
800A/B	Organizations			\$4884			Ψ200
LAW	Remedies	5		\$814 x 5 units =			\$329
801A/B				\$4070			ΨυΖυ
	Total Units:	11	Cost:	\$8,954	Book Estin		\$614
	ONE-TRIMES	STE	R REQUIRED				
LAW	Criminal	2		\$814 x 2 units =			Ф406
R503	Procedure			\$1628			\$406
LAW	Advanced Legal	2		\$814 x 2 units =			ΦΩΕΩ
R500	Research			\$1628			\$250
LAW	Moot Court	2		\$814 x 2 units =			\$90
R504				\$1628			ψ90
LAW	Professional	2		\$814 x 2 units =			\$305
R505	Responsibility			\$1628			ψ303
LAW	Community	3		\$814 x 3 units =			\$256
R502	Property			\$2442			Ψ200
LAW	Advanced Legal	2		\$814 x 2 units =			\$75
R501	Writing		_	\$1628			Ψ, σ
	Total Units:	13	Cost:	\$10,582		Books Estimate:	\$1382
	ELECTIVES						
Various	As offered	13	13 units of Electives choices during 4-year Law Program	\$814 x 13 units = \$10,582			TBD
Juris Doctor (JD) Program Units Totals:		86	Program Tuition Totals:	\$70,004	Books Est. Totals	(not incl	0,034 uding tives)

See next page for JD fees.

Juris Doctor (JD) Fees

Additional Fees:

- Application Fee \$50 (Non-refundable)
- Library Fee: \$70 each trimester
- Lexis / Westlaw Fee: \$125 charged once per year, in fall.
- AdaptiBar fee: up to \$390.00, charged \$30 per year until your final year which will be charged at \$300.00, to participate in the school's mandatory program to enhance practice and proficiency in multiple choice questions.
- Graduation fee: MLS only \$100, MLS+JD \$150
- Optional fee: ExamSoft laptop usage fee \$30 per trimester, effective August 31, 2020.

Program Estimate:

Juris Doctorate (86 Units)

Application Fee (non refundable): \$ 50.00Library Fees¹: \$ 840.00Lexis Nexis / Westlaw Password Fee²: \$ 500.00AdaptiBar Fee \$ 390.00Current Price-Per-Unit: \$ 814.00

Estimated Total

Tuition Cost³: \$70,004.00

Graduation Fee⁴: \$ 100.00 Juris Doctor (JD) only; \$ 150.00 MLS + JD

Estimated Book Cost⁵: \$ 5,034.00

Total Cost Estimate: \$76,968.00

¹ The Library Fee will be charged each trimester the student remains enrolled and will vary between the stated amounts depending on how many trimesters the student requires to complete the Juris Doctorate program.

² This fee will be charged four times during the normal progression of the Juris Doctorate program.

³ The Estimated Total Tuition Cost is the product of the current price-per-unit multiplied by 86 units.

⁴ The Graduation Fee helps cover the costs of caps, gowns, ceremony, reception and other expenses.

⁵ This estimate does not include book costs for elective courses. Books are not institutional charges. Students must purchase from outside sources.

	M	aste	er of Legal Stud	lies Program		
	INTRODUCT	ГOR	Y CLASSES		A	pprox
LAW I402	Legal Research & Writing	2		\$814 x 2 units = \$1628		\$240
LAW I401	Introduction to Law	1		\$814 x 1 unit = \$814		\$117
	Total Units:	3	Cost:	\$2,442	Books Estimate:	\$357
	FIRST YEAR	*				
LAW 501A/B	Criminal Law	6		\$814 x 6 units = \$4884		\$405
LAW 500A/B	Contracts	6		\$814 x 6 units = \$4884		\$342
LAW 502A/B	Torts	6		\$814 x 6 units = \$4884		\$259
	Total Units:	18	Cost:	\$14,652	Books Estimate:	\$1,006
	SECOND YE.	AR*				
LAW 603A/B	Constitutional Law	6		\$814 x 6 units = \$4884		\$260
	Total Units:	6	Cost:	\$4884	Books Estimate:	\$260
	ONE-TRIME	STE	R REQUIRED			
LAW R500	Advanced Legal Research	2	~	\$814 x 2 units = \$1628		\$250
	Total Units:	2	Cost:	\$1628	Books Estimate	14250
	ELECTIVES					
Various	As offered	7	7 units of Electives choices during 2-year Law Program	\$814 x 7 units = \$5,698		TBD
Program Units Totals:		36	Program Tuition Totals:	\$29,304 Est	(no	1,873 t luding

Totals:

See next page for MLS fees.

Dated: 11.18.2022

electives)

Totals

Master of Legal Studies (MLS) Fees

Additional Fees:

- Application Fee \$50 (Non-refundable)
- Student Tuition Recovery Fund Fee: \$75.00 (Non-refundable)
- Library Fee: \$70 each trimester
- Lexis / Westlaw Fee: \$125 charged once per year, in fall.
- AdaptiBar fee: up to \$60.00, charged \$30 per year to participate in the school's mandatory program to enhance practice and proficiency in multiple choice questions.
- Graduation fee: MLS only \$100, MLS+JD \$150
- Optional fee: ExamSoft laptop usage fee \$30 per trimester, effective August 31, 2020.

Program Estimate: Master of Legal Studies (36 Units)

Application Fee (Non-Refundable):	\$	<u>50.00</u>
Library Fees ⁶ :	\$	<u>490.00</u>
Lexis Nexis / Westlaw Password Fee ⁷ :	\$	<u>250.00</u>
AdaptiBar Fee:	\$	60.00
Student Tuition Recovery Fund (Non-Refundab	le):\$	<u>75.00</u>
Current Price-Per-Unit:	\$	814.00

Estimated Total

*Tuition Cost*⁸: \$29,304.00

Graduation Fee⁹: \$\frac{100.00}{200} MLS only; \$\frac{150.00}{200} MLS + Juris Doctor (JD)

Estimated Book Cost¹⁰: \$ 1,873.00

Total Cost Estimate: \$32,252.00

Payment Options Available: Discuss with Accounting upon enrolling.

Costs and Fees: Subject to change. This draft serves as an estimate only.

Book cost estimates are included for informational purposes only. Books are not institutional charges. Students must purchase books from outside sources.

⁶ The Library Fee will be charged each trimester the student remains enrolled and will vary between the stated amounts depending on how many trimesters the student requires to complete the Master of Legal Studies program.

⁷ This fee will be charged twice during the normal progression of the Master of Legal Studies program.

⁸ The Estimated Total Tuition Cost is the product of the current price-per-unit multiplied by 36 units.

⁹ The Graduation Fee helps cover the costs of caps, gowns, ceremony, reception and other expenses.

¹⁰ This estimate does not include book costs for elective courses. Books are not institutional charges. Students must purchase from outside sources.